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P L A N  F O R  T O D A Y

Preferences and tradeoffs

Pulling policy levers

Economic models

Incentives

XYZ Airlines



I S  P A R E T O  T H E  B E S T  S T A N D A R D ?



I NCENT IVES



W H Y  D O  P E O P L E  D O  W H A T  T H E Y  D O ?

People get utility from doing stuff

These can get distorted 
and crowded out!

Extrinsic rewards Intrinsic rewards



W H Y  C A R E  A S  A N  M P A ?

Good policy uses incentives to channel 
behavior toward some desired 

outcome. Bad policy either ignores 
incentives or fails to anticipate how 

rational individuals might change their 
behavior to avoid being penalized.

Naked Economics, p. 39



P E R V E R S E  I N C E N T I V E S



People respond to 
what you signal

I M P O R T A N C E  O F  I N C E N T I V E S

You get what you measure



Daycares and late pickups

Blood donors

Taxes Favors Thanksgiving

Playgroups and daycares MLMs

NED and democracy promotion



Extrinsic rewards can crowd 
out intrinsic motivations

Don’t violate important social 
relationships by reducing 

services to a market transaction

Pay enough or don’t pay at all



P U L L I N G  
P O L I C Y  L E V E R S



T R A G E D Y  O F  T H E  C O M M O N S

Farmer 2
Use water normally Double water use
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T R A G E D Y  O F  T H E  C O M M O N S

Farmer 2
Use water normally Double water use
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 1 Use 

water 
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6, 6 2, 4
Double 
water 
use

4, 2 1.5, 1.5

50% tax on 
doubled use



I S  T H A T  T A X  F A I R ?

Procedurally?

Substantively?

Rawlsianly?



C H A N G E S  I N  T A X E S

Firm owner
Pay normal tax Hire lawyers for loopholes

G
ov

er
nm

en
t

Moderate 
tax rate 100, 500 85, 495

High 
tax rate 150, 450 90, 490



N A S H E S  M A T T E R

Government tries to get to 
(High taxes, Pay normal rate) 

Firms hire lawyers

New outcome is worse for everyone

Policies must be a Nash equilibrium



E L A S T I C I T Y  A N D  R E S P O N S I V E N E S S

% change in demand that 
follows a 1% change in price
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ϵ = 2: ”If price increases by 10%, 
quantity decreases by 20%”

ϵ = 0.5: ”If price increases by 
10%, quantity decreases by 5%”

Q ↑ P ↓
or 

Q ↓ P ↑
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ϵ > 1 = Elastic

ϵ = 1 = Unit elastic

ϵ < 1 = Inelastic

ϵ = ∞ = Perfectly elastic

ϵ = 0 = Perfectly inelastic Changes in price do 
nothing to the quantity

Changes in price change 
the quantity a little

Changes in price change 
the quantity a lot

Any change in price 
moves quantity to 0

Changes in price change 
the quantity the same

Goods with substitutes
Diet Coke

Goods with few substitutes
AIDS medicine

Survival goods
Water in the desert

Identical goods
Two vending machines



ϵ ,  T A X E S ,  &  P R E F E R E N C E S

Taxing things changes their prices

Changing prices changes 
quantities demanded

Taxing elastic goods will make quantities 
go down a lot and decrease tax revenues

Taxing inelastic goods will make quantities 
go down slightly and not hurt revenues



If P↑ by 10%, Q↓…

19.72%

2.7%

8.3%



G E N E R A L  T A X  G U I D A N C E

Tax inelastic products unless you’re 
tying to change consumption

Those who can afford to avoid 
taxes will try to avoid them

Soda? Cigarettes? Alcohol? Property?



H O W  T O  A V O I D  
U N I N T E N E D  C O N S E Q U E N C E S

Policy change shouldn’t change 
preferences in bad ways

Policies must be a Nash equilibrium

Israeli daycare NCLB testing ACA part-time hours



E C O N O M I C  
M O D E L S



Y  T H O ?

Why the h*ck am I making you 
think about game theory?

The world is never this simple!

The predictions are obvious!



Models purposefully shrink the 
world so we can measure and 

predict things in it



No economic model can be a perfect description 
of reality. But the very process of constructing, 
testing and revising models, forces economists 
and policymakers to tighten their views about 
how an economy works. This in turn promotes 
scientific debate over what drives economic 
behavior and what should (or should not) be 
done to deal with market failures. 

Sam Ouliaris, IMF



No economic model can be a perfect description 
of reality. But the very process of constructing, 
testing and revising models, forces economists 
and policymakers to tighten their views about 
how an economy works. This in turn promotes 
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X Y Z  A I R L I N E S
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Does marginal product 
always diminish?
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O P P O R T U N I T Y  C O S T

Cost for 
theater concert

Value of park 
concert to you

Economic 
cost of theater

$25
$15

$40
Value of theater 
concert to you $50 $35

Theater ParkYour choice



P R E F E R E N C E S
&  T R A D E O F F S



U T I L I T Y

Happiness points



Diminishing marginal utility



Theoretical combination of goods 
that provide same level of utility 

U T I L I T Y  B U N D L E S



U T I L I T Y  B U N D L E S
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What combinations of 
inputs will produce 12 utils?





Hours of free time per day
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I N D I F F E R E N C E  C U R V E S



MRS at A = 9 MRS at H = 4

Slope of indifference curve = 
marginal rate of substitution (MRS)



Marginal rate of substitution (MRS)

Marginal rate of transformation (MRT)

Theoretical tradeoff between inputs

Slope of indifference curve

Actual tradeoff between inputs 
constrained by feasible frontier

Slope of feasible frontier



What’s the best number of 
workers to use / planes to make?

What’s the best combination of 
hours studied / free time?
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